W Roll No to be filled in by the candidate I SSC-(P-11)-A/2024 I Paper Code I 7 I 1 ’

7]

MATHEMATICS {Science Group) Objective {har &1 Bessiong) U‘s/"(-,-a/u"' k) U‘LJ
(GROUP-I) Time: 20 Minutes Marks: 15

szl & A Jrd g W2 G 2o TP ensD i CBAYZ Ll Ly p 1 Wd2 8 7 E S abin L athy i
w / ﬁLL{ -J:/LU'L«JJL/JL]L../U,:V@U‘"U;/DLDL CBA

Note: Write Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, C and D to each question are given. Which
answer you consider correct, fill the corresponding circle A, B, C or D given in front of each question with Marker or Pen ink on the answer sheet provided.
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1.

12

4+l L ) : x4+ 11
G-D@x+2) " D)
(&) Animproper fraction /=l & (B) A proper fraction /_21
(©)  Anidentity =1 (0) A constant termd .

The set having cnly one element is called. ﬁ’/ S i LS e 2
{A) Nullsetexye (B)  Powersetirsy (C) Subset .u;&” / ¢) Singleton set L0t
The number of elements in a power set {a, b, c,d} is: {./wjk;mé../ﬁgé{g b,c,d} 3
n 4 ®)" 6 © 8 g (Dy/ 16
Sum of the deviations of the variable x from its mean is always:——g.tn__ 2 ,f £l /(Z-_wdb{ws’x 4
) Zerop B) One i / o \\ Same M \ (D)\ Diffé@nw
Cosec? § — cot?6 = N Coseczﬂ - cot?ﬁ,& 5
) 0 B) o \ \ \1 \ Yl)\ \ZM’ !
Radius of a circle are: o \ \ \ ‘x, wuw.f_l,/um.fn 6
(A Allunequals.Zer  (B) / Aﬂ equal /u(lﬁ ‘k]alf of any aw\rd/_n 3,( o” (D)  Double of diametert/s= ¥
Tangents drawn at the ends of dlarfveger ofa c:rc\e\are  Lto.each other\ -‘_gm \dd WL LpLlen T
~
(A) Perpendiculard;/ (B)‘ ‘ Non oaral/élrjﬂr 4 (0 \ PafaﬂeLwM/ (0} Collinearss
Y o
Adcmlong choﬁ@\é?tands a central angle‘ef 60 Tharadial Ko I bl 1860747 //‘,uuéw‘u{l 8
segment of }hls circ g \\ } RN
N, /

(A) / / Acm \ (B) 3cm // / 2cm () lcm
Angle insefibed in a‘semi-circle?s' I,w'“"*”‘ / e bn i o ik 9

TN LAY 7 T
W N = 0 n
The number of methods to\solve a quéﬁtaﬁg:@quation is: SPEpE LS S atsrGrss N0
) 1 B 2 ©) 3 0) 4
Two finear factors of x2 — x — /20 are: WL lx? —x~20
W @E-&Ex-49 B @E-5&x+4 ([0 (x+5&x+4) 0 @x+5&(x-4)
Cube roots of —1 are: w1 A2
(A -1 @, ~w? (8) -1 — w, w? € 1 — w, —w? 0 -1-0-0?
i = % is equal to: gt é = % A3

B—x « B 1 1 1

A L B —t B = D = e
(A <P (8) <P © B () <*s
Inaratio x:y,y is called: e blydtnyes M
(&) Relation”  (B) Antecedent/.¢ (C)  Consequent’.s »  (0)  Proposition &
Find y in proportion 4: y:: 15:5. Ly sthiyi15:5 8 15

3 4 4 5

zZ B - & = D -
A 3 (8) 3 I\ 3 () )
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SECTION-| J;l/? ’

2. Write short énswers of any six parts from the following:  (2x6=12) g fehe B Lomga S adits 2
i. Define reciprova’ etjuia: ori. e oy Pleblgis
ii. Solve by factorization: a2 - 302 =0 /}’ L Sias
fii. ~ Solve the equation using quadratic formula: - 4x2 = 3x =14 /), ]ufd’a..umbd»»f...uv i

v.  Find the discriminant of the quadratic equation: 9x? + 25 = 30x i Y frjy, s /(y,,[/&m, v
V. Find the sum & product of the roots of the equation:  3x? —5x +7 = 0 J{r /(f’;,,,u,f Wu sl ¥
vi. Evaluate: WATTE5 \ N i
T " .- // ”'\\\ \\ . 1 u
vil. - Define inverse variation. \_ g i J ol i

vill. I g x5 and a = 3 when b = 4 findvalue of K. i % -u>\<JJKXb 4 .ﬁa = Qa}( i

e,

ix.  Find a mean proportional between ZOAS \\ \\ \( 20, 4%)’4‘&//1)10 Ly X
3. Write short answers of any six p;rrts from the follt:wmg % \ (2x6 ﬁQ u{\// /’.\W/f Loange o 3
i.  Define an identity. { ; e “\ ] T ».,‘\ \‘\ \ !} il /JJ ol
It = s then 1find the valugs of A & BN _L//rWJB/?m e VI
iii. Define a bij e;hve\[\ncﬂon {Iw' - ””*.“ »-‘,\\ \‘% E /’Jd‘té? s, i
iv. Ifx—G) y v thenﬁndxny V Exnyinx =0,y =240 W
v. Find a* and \b \’\ (;;,—;_,4,13{,2))}1 = (2,1) S baa v
Vi lfy={-2,1,2} then make t\‘No bmary relaﬁQns fgp»y X y: _,:_w,u&g”gy Xyiny ={-21, 2})7 i
Vi, Define arithmetic mean. \ ) \ / o A dbage i
viil. Find geometric mean of: -~ 2,4,8 1 ('"’” bl a1 il
ix. Find the range of following vge}ghts of students: zfr}v(Range v"Ju' Ml Lo ix

112, 109, 84, 89, 77, 104, 74, 97, 51, 59, 103, 62
4, Write short answers of any six parts from the foilowing: (2x6=12) :u_/}j ez L»zug;éf S A4

i. Define radian. Sl ys
i Convert315" into radian. GIde L35
ii. Find area of the sector of a circle of radius 16 cmifthe angleat -/ /,,;(16‘;;;/{& ‘J;/(P FK B i
the center is 60°. B0 s
iv.  Prove that: z 1 = 2c0sec? S W

1-cosé t 14+cosf

v. Define acute angle. i P stinse

K P.T.O. __---_,'A!J»




Vil
Vi,

vii.

| LT et L

Note:

Ruop-1-2s

Define circle:. :

Define circum-angle. ey AR
Define in-circle. ' S et
Divide an arc of any length into two equal parts. LI PP e SIS

SECTION-II (6x3=24) (1
Attempt any three questions in all while Q.No 9 is compulsory: :‘gdjus?ﬁf,‘fﬂéqf/jppzégwyd S
Solve the equation: 2x* —11x2 45 =0 f/:,?’ S e

If ¢, B are the roots of the equation x? — 3x + 6 = 0, form urJ,/Fx? 3% + 6 = Obsleog, B
equation whose roots are 2 o +1,28 + 1. i dc _,_1,‘2@4 1Ju£ bt

Find a fourth proportional to: X —11x+24, x §\x - 4 g ﬁ( 3
Pl \ \>
1 : o 3 /’ £
Resolve GIDeD into partiabfraction. {/ ‘\ \\ ..é{/ JJ-‘ Kol /6} (x\;)(x =

Provethat AN (BUC) = (ANB)U (AN C) nf I>M\(B u C"} (“A n B) U CA 0 C)fz:_/t'
A={1,2, 34,5, 6}\ B= {z, Ns 8}, c;u 4, 8} S

Calculate variance of the data o ’”M“‘\\m 8, § 7,5, 12\8 6 8, 2 \ épivgﬁm

Ifsinf = — and terminal a’rm oithe@ngle 4 is notih

\" I
quadrant ~ Hl Find the valu sfof remamﬁg tngonométﬁc e W:/ " /f o w; SFed
functions. / \% R
Inscribe a lrcléqg an equilateral trnangfe ABC with e2eh srd}e of o oAl £t oo v §ABC B ibor oL+
length 5 ém \\ il odude?
Proveéhéf two chords’ o a circle which are equndlstant,fré)ﬁ the ALUATN S e S p 2530 L Sls Zonre
center, are congruent . 7 o "

\'! b ,/ _U]LnJ [V
\‘ % L —
"‘\ OR
ORI, P (L)
Prove that the opposite ang s of gmf quadrilateral inscribed in a GRS LA gt et
circle are supplementary . & g i§ e
e : 22-10-A
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Note: Write Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, € and D to each question are given. Which
answer you consider correct, fil the corresponding circle A, B, G or D given in front of each question with Marker or Pen ink on the answer sheet provided.

11

"

13.

14.

A fraction in which the degree of numerator is less than the degree of - o Bl s
denominator is called: : . e O nf eSS ST RE PN

(A Anequation=tt~ (B}  Anidentity £ (€ Aproperfraction /2 (D) An improper fraction, /&

fU ={1,2,3,....,10} and A = {3,4,5} then As: e diA= (3,450 = {123, ..., 10}/ 2
) {1,2,3,4} (B) {3,4,5,6} © {4,5,6,7,8} /,,/"(D)"”Thz@ 7,8,9,10}
The number of elements in power set of {1, 2, 3} is: .L/ 'Q:;;ﬁffw{/iﬁqj,\gﬁl;{l, 2,3} 3
® 8 ®) 4 ©) 6 i .0 \\\ N
If A < B, then A U B i equal to: ///’ \ A UpIed B 4
o B ® A o /7 o N\ 0 A@ |
The spread or scatterness of observationsina/data set is callg’é: ;‘[ e Mf,{-{(%;.u'?g mf 5
®  Averagess (B Dispersion®® _(C) fbemr% pdroyondrx, O Modesd
Cosec?8 — cot?0 = — \ \"‘///"‘\\ \ Cosec’6 /’c/JtZG = 8
o] -1 (B) // 0 N\“’\ € "\\ <KQ\n 6 \-\ } ) 4/" 1
Locus of a point in a plane equidistar}t’from a@_(eg point is EQIled: \,\‘ Q\Q\M umﬁu‘x;uafiﬁ;ﬁ" rerkisilgs T
(A Circle o713 (B) ! ;»"/Radius\ :}‘49\1 ‘\i ©) Ewcgmferenéé"xﬁ,i ,-"(g) Diameter 4
A circle has onlylg\rle Y "‘! ‘ 0, R P Nyl PR P
(A Secaﬁ d’bb‘ (B) Centre # » : 5’ © //} \ Chord s D) Diameter 5
The length ot,ﬂ%iggiamete; 3?-@ circle is how many times trie in’a/\ditl’si)f the cirgle? s L L P L 9
w0 s oo 2 o 1
Two linear factors of 5}%_“- 15x 31-\56 are: ’ e i B3 Lrx? — 15 +56 10
B c-N&E+TOE FD&E %) 0 c-naE-8 0O GEN&E+E)
Solution set of the equation A x — ﬁb?;ié}is: e e fhx? —x = 20 = 0zile A
0 {-4,5) By s ©) @Bsy -0 {-4,-5)
Discriminant of the equation xzé;'-ﬁ'ﬁ"x +3=0is - sl x2 ~3x+3=0 .12
) +3 ®) 5 © 15 0) 4
Two square roots of unity are: il ,Ju;,,,&da 13
A 1, (B) 1,~w ) w, w? ()} 1,-1
A mean proportional between 20, 45 is: te e dhst20,45 14
(A) +30 B = t20 © +45 )] +10
f uoc v2, then: Juxvi/i A5
(A) u=v? (B) u = kv? © wv? =k 0 w?=1
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SECTION-| BUO P =2r2= it

2. Write short answers of any six parts from the following:  (2x6=12) S eliz P L'tzugz,éf whits 2

i.  Define extraneous root, Ey e
ii. Solve by factorization: 5x2 = 15x (E S F s
iii. Solve the equation by using quadratic formula: —xZ= Tx—2 1Y SO (NPT SO RV Jii
iv.  Find the discriminant of:_ x? 4 3x = =5 . S W
v. Evaluate: 037 + 3+ 1 {/:x N med Y
vi.  Write the quadratic equation having following roots: 4,9 \ 9y _N,PJJ,,JW”J,M Vi

71

vii.  State theorem of componendo-dividendo: ¢

% \ \*--“-{U“r"ﬁ’vf“‘” i

Vil Jfg o anda = 3when b= 4findvalueof K./ ,J/(PJJ}W b=4 ﬁg/é\s,,na\x Ly i

/
i
>
i

ix. Find a mean proportional between: 2(}5;3}{5, 5" y_w e e ufu,d Ly X
3 Write short answers of any six parts from the following: ) (2;5@1’2) u/ J ...\w,” Lozig JI Sdien
i. Define proper fraction. /,,‘.f"““ ~ 1‘\ {,\ \ \‘ / L P8
i, if %’253 = m oy then find the vfalues gf(l & B\\ \.\L‘ _J>(,<<L’..J J’ B\/srA} T —B—/l i
iii. ~ Write all the subsets of {a, b} N % \ S :,/, St A L{a byer i
V. W= (1,285 = 2.4, 9‘}*and \ : j\\ TSB =(2,4,9%A=(1,2,3})1 W
f—{(xy}]y axvxeA vest || N\ f= (%, Y)1y = 2x, ¥X €AY € B}
then find D’omam f and Range f. % ‘i/ & //’ N N
v. IfL= {a b c} M = {4\51f LUt /,/ /P LXMIM = (4,5} = {a,b,c},/1
vi fX=¢andT = A then ﬂnd X nT. // G XNTIT =24 aX = oS M
i, Define harmonic mean. \ N / LS S ETA i
vili.  Find the arithmetic mean by\f/?it/ meth/od Sl S g ey Vi

Nurbér of heads ’ 1 2 3 4 5 .
Frequency 3 8 5 3 1
. Find the edian of the data: 11500, 12400, 15000, 14500, 14800, 16200 S iy X
4. Write short answers of any six parts from the following: (2x6=12) :u_//_ /’aglz/"y L,lmgc&f Sdite 4
i. Define angle of elevation. LE et
i Convert%’E rad to degree. ~EdensSs E7~trad A

(PTO) (élun)




Vi
vii.

vii.

Note:
5.(a)
(b)
6.(a)
(b)

7.(9)

prfz~z'{ |

Find 6 when : l=4cm;r=Tcm By #0
Prove that: Sin3@ = sind — sinfcos? 0 St
Define sector of circle. _ E KL n
Define circumcircle e J S tin
Define cyclic quadrilateral. ISV NN IR Y
Define regular polygon. \ e /JJCW ,50,{,
The length of a each side of a regular octagon is 4 cm. Measure e (‘VJHJOP s o
its perimeter,
SECTION-ii (8x3=24) /a.ﬁf""
Attempt any three questions in al! while Q.No 9 is compulsory: 4.6;119 Y4 dﬁr}a{/ / AR ymruf s F
Solve the equation: 2x*-11x2+5= / \ \ St
Provethat. ¥ +y3+z>=3xyz = (x+y+2) (x-b/ y+a)zx<z) (x+\q) y+a)*§) té{ub‘
Find x in the proportion: “ 8-x:ll-x: ’Zt [— x:25-— i ”Z’P/:)qu%..zb
Resolve into partial fraction: oden e - T g/‘,@f u:?lfu,f
i L—-{xleNAxSS} Mrb}\,t( PAyaam} // y
Then make a relation fro;pi, oM LLW{M = &U;.&M

Ry £ (o] - k) 2}, th{(x,y>»\y«x}\/
Findstandard doviaion S | ,/ 267,315 10485 - S el

ftan 6 == amln9 is in qua‘cﬁant 11, find thﬁ values of S dbh?”u‘ Yo ~sinfuitan 6 = —/
other tngono;netnc functions at 6. | P # \ -4/ {—,Lv_,g/,eJ J‘w
Draw two ;pqndlcular takgents to a circle of rad‘uéﬁ cm. // _g_"‘-{ JWrF nl e il 0
Prove that a stralgthe dra»h%grom the center ot acirclefo opisect  Slxzpz s e S pLain S gt
a chord (which is not Nfameter s perpendicular to ) thé chord. bt 55 AL S
\\ \
R ”‘~~~‘f¢* (L)

Prove that the measure of a cental gagle ofammor arc of SN By ] Hoi§ L

a circle is double that of the an s} btended by the it i Pl ol et )"{ g: i

comresponding major arc. < bt et Lo dUd 3G
2410-A
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